F40EELEICS 2 =F7H Y EYIhy TEEXRE

IBGL - 5 m EHE

10mMUT #BE 11~12% #BA 13~14E #HA 15~16m%K KA FyrvEFXUIYT BE we B &

JIE 52 F—L% JIE 52 F—L% B/a F—L% B |IEfk F—L% B/a F—L% B/a F—L% B/
1 HESC 1 HESC 88 HESC 67 1 2lg 50 4 < > | 126 1 4 F < Y |29
2 A4 0BE 2 +HETSC 60 2 5" yny7° SC 57 2 4 <V 44 2 2 96 2 HESC 245
3 YORPL=F 22 3 VABE 54 3 TUSTHRFm | 4T 3 =E8MSSs | 39 3 A4 KRE | 61 3 3= 146
4 A4 b UEE 4 4 < v 50 4 4 k< v 44 4 A4 VBT | 32 4 BXZWL 60 4 aF = deiER | 118
5 WmASS 5 U RINAR Y 41 5 4 k< UEd | 40 5 | AEFESK | 28 5 [ESpye-1:3 57 5 | Rq X% | 115
6 UMV 6 7937 2R 33 6 MNEE 35 6 AYq UBE | 27 6 o =4k | 57 6 WASS 114
7 £HESC 7 A4 VEE | 32 7 ZHESC 33 7 R4 KR | 27 7 [RS8Vl 45 7 [RS8yl 104
8 a7 =4e#EA 8 KESS 30 8 W42 R 30 8 A4 VBN | 27 8 PRAPERERS | 45 8 A4 UEE | 101
9 | NECGSCiZEmAO 9 MVER 28 9 aNUFR 30 9 XY Z BIRF 24 9 ATSC. YW 36 9 £HETS C 94
10 4 < v 10| Svnvhég | 27 10| Roqs2dkx | 28 10 BWESC 23 10 mIER 31 10 5 vyny7° SC 94

2017/8/2710:30




